R

Standard slider

IKERATIREE SRR AR IEBEN REFNITEE

Effective Stroke (mm)

g Horizontal Payload (kg) 4y High Rigidity Linear Guide (mm)
Y 60KG d 15X2 Gy 50~3000

UM
E7E

Straight motor (Up side)

LM
IR

Straight motor (Left side)

RM
AR

Straight motor (Right side)

ES

Straight motor (Down side)

RIgER A T Product code

BigR BRI g2 SEES BEERE BRTE BARYE Eest HEEe E#
Model Belt Type Lead Motor position Slider type  Stroke 173mE Attachment Motor brand Wattage

Sensor quantity method
&P Interval / 50mm

G5 P150 = D2 Snnn 3L U SRR Servo Motor

Straight motor type

5GT BHRR 150mm EEBE  nnn=1718 NEBIE  bHRE 5 £a3 3
- B3 =
o AR standard nnn=Stroke |55 > = P s T = 400W
| UM zmm 2 suse awmn P oo T
(standard item) DM T#& 50~3000mm Z‘;”:iz‘z(?’ installation M Mitsubishi = Shihlin o
Down . —
L M Eﬁﬂ 3 R N Y zsjl!wa 'I%;B
et YE 3@ TrzrE S =# i : P4= BB 750W
RM ARE BRIz TR Sanyo | pg=Panasonic 750W
Psﬁﬂﬁﬁ’-ﬁ’“ P ] 50 Right Photoelectric Down/Slot i HEMRE Step Motor
PU 4% 2% 150mm T SensorX3 installation _ .
PU Steel belt Straight gear reducer type right side 2 9 ZiRSHESIE 86 1E
2-Phase step motor
R l 78 UG J:fj_ﬂ 3] H Frame size : 57
8] Nyald N N
’ KEBIE LPoN g BAESESESIE
DG THR e BT 5-Phase step motor
Down Wﬁﬁi@ Up/Down/Slot Frame size : 60
Photoelectric i i
LG Vo Rit) SensorX3 nstallation REH Gear reducer
Left inside -
eEd S S6 FRMsE SC
RG e ducer @)
Right N N ;ﬁ*g;zij_% Frame size : 60
- e Slot SQ M 90 iE
21T \ENEN installation Gear reducer eyl
Input shaft type % H' Frame size : 90 -
R No Photoelectric 14%%1&1%%%% R
U S Sensor We accept made to order
Up and to gear reducer.
THE No lght 2SI E
DS Down interrupted plate (E!_ucgted separately: —
3.3&%#%%7&%&&%@
1] 328
WUE=EAEE(mm) LS Ef s E{;}ﬁﬁﬁng.
Value = basic lead (mm) RS E)‘j—gg B AT Input shaft type
Right NN EERLRE

No installation surface

Www.m-pro.com.tw




R I 78 Ez%t’;ﬁﬁ / Standard belt drive DZ/ IE#EBEE Standard slider

Model [ R178 - G5 - P150 - DM - D2 - S500 - 3L - U - S6

BusR sk sk iz mEEL BEERRAE BRITE RRIZR#E/ 5 BB IR
M_Pro Model Belt type Lead Motor position Slider type Stroke Sensor quantity Attachment Motor brand
method

WRBAREE  FREANRE LETE B8 -
° If a sliding table purchasing code is needed, download/query online in accordance with the chosen specifications.

R Z HERERENR - BRTERIIR—EADERE -
" When using the Z-axis origin zeroing model, the lead length must be subtracted from the stroke.

RERGERANEEG - BEE X3 BEZRERIHBE  IBTRMUNSIMNEE  FREE - BINRE) -
" Standard accessories include power input pulley, sensor X3, motor mounting (excluding motor, can be self-provided or quoted separately; does include speed reducer,
which is quoted separately).

#EIR4EARE Specification

ﬁﬁ Spec Eﬁﬁﬂﬁ'ﬁ Feature H%%ﬁ&% Belt
RIBEBEFSE Repeatability(mm) +0.04
%}é*ﬁﬁ Specifications of motor 200W 13';&%% Servo motor 750W
;ﬁﬁﬂﬁ% Specifications of gear reducer S6 S6 S9 S9
ﬁ%ﬁtbﬂ Ratio of the gear reducer 5 10 5 10
ER#ZETZ Final lead(mm) 30 15 30 15
ZETEIEE Rated speed(mmsec) 1500 750 1500 750
IKFRACRES (kg) HVREZEERE 200ms 8 30 32 60
Horizontal maximum payload Acceleration/deceleration 200ms
TRHEFTAZ Stroke (mm) RF Interval / 50mm 50~3000
BB Parts
B E Belt width(mm) 25
SR AR R IR BN High rigidity linear guide(mm) E£1, Double * R Width 15mm
%Elﬁ@-imﬂ Housing bearing Eﬁﬂ Made in Japan
%EEEHE\T Motor linkage Eﬁ&%miﬁﬁﬁﬁ%% Connecting with pulley or gear reducer
oi';ﬂe PM-L65(NPN)
B R ATPR B2 Home sensor and limit —
IWH:E PM-L24(NPN) / PM-L65(NPN)
nside
. RETRASHRARSIE - N TIRERREE T P B AREE. RERE - HtREE
Please refer to the sliding table's index page for standard travel. BEREMAARABIE
SESECRESRETMERE - TSNS HESHAHSEAS - Calculations are based on a "P brand servo motor” that can move a
e Motor secondary drive specification options are also available; please query online or consult sales. weighted load; please refer to manufacturer data if another brand is used.

SR Sensor wiring diagram
A AEEE(NPN H7 TYPE)iHF0

1/0 circuit diagram (NPN output type) with connector
P

AHAEFEE(NPN H7 TYPE)EER

1/0 circuit diagram (NPN output type) with cable

CABLE ZIR#ELZR=1M
Output 1 a = i
] ¢ ﬁ Lead color code of cable
= 7] 2(%7) 50mAMAx LLoad | | 5~24vDC .
g ‘EE Outp u'E 2 ) T 10% ] (3RE / brown)+V
g 50mA MAX
e e "
@ SomA MAX LLoad | | 5~24vDC
: i T 10%
WEEEE ¢—O— SHERZRN) (B8 white) °
Internal circuit Users’ circuit 50mA MAX
v EXEE / blue)OV
SRS B0 AR T o I
" Ensure to insulate the umjsed output wire. H
AEFFAIER LED 1S E5S - AEBERS €—O0— SHEEEH
Under light received the red LED will light up. Internal circuit Users’ circuit
RFESRBYSR Sensor type HAEZZRYSE Sensor type CABLE

PM-L24 %@

brown

H;‘.jj@]fﬁ Output operation E_i;g _
HA1 AXEONNC) | pe

\ Be
Output 1 Light ON(NC) black @

H12  EHE ON(NO) Eh%e.v

Output2 Dark ON(NO)

PM-L65
H::'j]if]ﬂf Output operation
H71 AJEEE ON(NC)

Output 1 Light ON(NC)

H2  ESEE ON(NO)

Output2 Dark ON(NO)

Www.m-pro.com.tw




PRO
M()tl()nm PROMOTE YOUR PRODUCTS

o . . ; = " =T .
UG ;i 758! Straight gear reducer(Up side {alAR 552 Servo motor 400W i Straight gear S6
10 70 70_ 10
0| NJ
q ol
T T
= = (IRBERREEME)
6xM6x1 - 16DP Depends on motor and speed reducer
2xQP6H7 - 8DP o ﬁ
=] < H
o
a M S 18
[*] o
‘ STROKE 160
S A ooI
- N
% fodl
‘ L 82 6.3 ..
128
P
‘ ST— Mx200 \ A(1:2)
PR - W
= ES + < + 9 95 0
< 2 @
«
|
N I t 6.3
= = == % 4
Nx 8838 M6X1 » 53, ; L8438 M5X0.8 » STEEFL
Nx lower locking method M6X1 + Threadea holes : Upper locking method M5X0.8 » Countersunk holes
STROKE 50 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200
L 338 | 388 | 438 | 488 | 538 | 588 | 638 | 688 | 738 | 788 | 838 | 888 | 938 | 988 | 1038|1088 |1138|1188|1238|1288|1338|1388|1438|1488
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
N 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16 16 16
S 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200
P 290 | 340 | 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 [ 1040[1090|1140|1190|1240|1290| 1340|1390 | 1440
B8 (Kg) 0 0 0 [ [ [ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Bf/unit: mm BAEEARAIFEGREEL10%)

{E@ARES#E Servo motor 400W

ik Straight gear S6

10_ 70_70_ 10
oolé N
S| 115 5
T T
- I
6xM6x1 - 16DP
2X@6H?7 - 8DP
‘ STROKE 160
= | !
L
3; . o
e rrenme) ] IS
Depends on motor and speed reducer o
P d
s Mx200
e A(1:2)
.= == == = ==
0|
3 9 9.5 2
= = = = = 6.3
Nx 8838 M6X1 » 573, ; L8438 M5X0.8 » STEEFL
Nx lower locking method M6X1 » Threadea holes ; Upper locking method M5X0.8 » Countersunk holes
STROKE 50 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200
L 338 | 388 | 438 | 488 | 538 | 588 | 638 | 688 | 738 | 788 | 838 | 888 | 938 | 988 1038|1088 | 1138 | 1188 | 1238 | 1288 | 1338 | 1388 | 1438 | 1488
M 1 1 1 1 2 2 2 2 &) 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
N 6 | 6 | 6 | 6 | 8 | 8 | 8 | 8 | 10 | 10 | 10 | 10 | 12 | 12 | 12 | 12 | 14 | 14 | 14 | 14 | 16 | 16 | 16 | 16
S 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200
P 290 | 340 | 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040|1090 |1140|1190|1240|1290| 1340|1390 1440
EHE (Kg) 0 | 0o o oo oo o oo oo o] o]o|o]o|[o]o]o[o]o/]o]o

Www.m-pro.com.tw

Bf/uit: mm BEAEEAIFEGEEEL10%)




}E"F‘I’i‘t;%ﬁ / Standard belt drive  {EHEBEE Standard slider

LG i@k B Straight gear reducer(Left side {aAR 3= Servo motor 400W iBERM Straight gear S6

<t| 0| |
|| A e EEE
i i
v 6xM6x1 - 16DP = o
2X@6H7 - 8DP =% - <
=
b (REE R AERTR)
Depends on motor and speed reducer
‘ STROKE
=¥ e N |
L
P
S Mx200
Ps
== == == =x
- & & =

Nx 830 M6X1 » 577 ; L

Nx lower locking method M6X1 » Threadea

= M5X0.8 » SEETL

les ; Upper locking method M5X0.8 + Countersunk holes

STROKE 50 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [1000|1050|1100| 1150|1200
L 338 | 388 | 438 | 488 | 538 | 588 | 638 | 688 | 738 | 788 | 838 | 888 | 938 | 988 | 1038|1088 | 1138|1188 |1238|1288|1338| 1388|1438 |1488
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5] 5 5 5 6 6 6 6
N 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16 16 16
S 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200
P 290 | 340 | 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040|1090 | 1140|1190 |1240|1290| 1340|1390 | 1440
E#(Kg) 0 o] o] ol ololololo]o] o] o] o] oo o] o] o] o]o]o o] o]o
Bfi/uit: mm BAEELFAI[EMEEL10%)
s . : . = . =T :
RG ifE#A AIE! Straight gear reducer(Right sid {EIBR 55 Servo motor 400W iR Straight gear S6
sl 115 ||
i al
R o N[\ 6xM6x1 - 16DP o
< J < === \_2x@J6H7 - 8DP
3 | |k .[Ci0" 70
(KB RAERTR) [ Th
Depends on motor and speed reducer
203 34 _ 160 STROKE
| LD B_ T
g | A IE ‘ (
N = =
<63 61 82 L
12
A(1:2) i P
Mx200 s
] 9.5 ﬂ
0| NJ |
2= S - == S
6.3 g
<
[Te}
E= = = E= ==

Nx T 850 M6X1 » 573, ; E#H3( M5X0.8 » S8

Nx lower locking method M6X1 » Threadea holes ; Upper locking method M5X0.8 » Countersunk holes

STROKE 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000|1050 | 1100|1150 | 1200
L 338 | 388 | 438 | 488 | 538 | 588 | 638 | 688 | 738 | 788 | 838 | 888 | 938 | 988 | 1038|1088 | 1138|1188 | 1238 | 1288 | 1338 | 1388 | 1438 | 1488
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
N 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16 16 16
S 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200
P 290 | 340 | 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040|1090 | 1140|1190 | 1240|1290 | 1340 | 1390 | 1440

BEE(Kg) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

Bfi/uit: mm BAEEAIFEGREET10%)

Www.m-pro.com.tw




PRO,
M()tl()nm PROMOTE YOUR PRODUCTS

UG ;i 758! Straight gear reducer(Up side

{@PRES#E Servo motor 750W

R Straight gear S9

10 70 70 10
ﬁ“ 115 SN
N <15 =
Il Il
- I (MR E R R T RR)
Depends on motor an red r
6xM6x1 - 16DP epends on motor and speed reduce:
2X@6H7 - 8DP h
/ =]
N
34—
™)
‘ STROKE 160 N
T 92
S — )
| P | * _RLJ_
I = 4 & 4 4
<
LO)|
8 == == == == ==
Nx 8838 M6X1 » 53|, ; E83( M5X0.8 » TEAFL

Nx lower locking method M6X1 » Threadea holes ; Upper locking method M5X0.8 » Countersunk holes

STROKE 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 100010501100 1150] 1200
L 338 | 388 | 438 | 488 | 538 | 588 | 638 | 688 | 738 | 788 | 838 | 888 | 938 | 988 | 1038|1088 | 1138|1188 | 1238|1288 | 1338 1388 1438 | 1488
M 1 1 1 1 2 [ 2 | 2 2 | 3| 3| 3| 3| 4| 4| 4| 45| 5|55 6666
N 6 | 6 | 6 | 6 | 8 | 8 | 8 | 8 | 10 | 10 | 10 | 10 | 12 | 12 | 12 | 12 | 14 | 14 | 14 | 14 | 16 | 16 | 16 | 16
s 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200
P 290 | 340 | 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040|1090 | 1140|1190 | 1240 | 1290 | 1340 | 1390 | 1440
=& (Kg) 0 oo o o] oo ool o[ofJoJoJo[o]o[o o oo o o o]o

Bf/unit: mm BAEEARAIFEGREEL10%)

{ElBR &3& Servo motor 750W JEEEH# Straight gear S9

o]
S| 115 s
T T
= I
6xM6x1 - 16DP
2x@6H7 - 8DP
‘ STROKE . 160 _34_ 92 145 186
n
= i o ]
! | gl Alx
oK T .V N og T T
L ‘ 6.3 ‘f
R . N 128
(REE R TER) ms
Depends on motor and speed reducer\\ Q
P [} =
s Mx200 O
P .
I == == == =X A(1:2)
95
3 < )
1
"= = =5 == == t 6.3
Nx 8838 M6X1 » 573, ; E&438 M5X0.8 - SEEFL
Nx lower locking method M6X1 » Threadea holes ; Upper locking method M5X0.8 » Countersunk holes
STROKE 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 [ 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 [ 950 [1000[1050[1100[1150]1200
L 338 | 388 | 438 | 488 | 538 | 588 | 638 | 688 | 738 | 788 | 838 | 888 | 938 | 988 |1038] 1088|1138 1188|1238 128813381388 [ 1438 [ 1488
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
N 6 6 6 6 8 8 8 8 | 10 | 10 | 10 | 10 [ 12 [ 12 | 12 | 12 | 14 | 14 | 14 | 14 | 16 | 16 | 16 | 16
s 50 | 100 | 150 | 200 | 50 [ 100 [ 150 | 200 | 50 [ 100 | 150 | 200 | 50 [ 100 | 150 [ 200 | 50 | 100 | 150 | 200 | 50 [ 100 [ 150 | 200
P 290 | 340 | 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040|1090 | 1140|1190 1240|1290 | 1340 1390 | 1440
EE (Kg) [} 0 [} 0 0 0 0 [ [ [ 0 [} [} 0 0 0 0 0 [ [ [ 0 0 0

Bfi/unt: mm BEAEEFRIFTEGREEL10%)

Www.m-pro.com.tw




}E"F‘I’i‘t;%ﬁ / Standard belt drive  {EHEBEE Standard slider

LG i@k B Straight gear reducer(Left side {aAR 3= Servo motor 750W BERM Straight gear S9

|| 115 | SR
IF Il |
v 6xM6x1 - 16DP | "
2x@6H7 - 8DP =<1| 10 |10 || ] o
70_| 70 -
n (R R TR)
L Depends on motor and speed reducer
239.2
STROKE 160 34 s 4
S ! 0[O N E
EE 3 of]
T |92 59 63 1.
128
. L A(1:2)
[Te)
s Mx200 2 95
== e — == = — 6.3 4 o
T T |
7
0|
== == == =E ==

Nx T80 M6X1 - 577 ; E#530 M5X0.8 » SEEFL

Nx lower locking method M6X1 » Threadea holes ; Upper locking method M5X0.8 » Countersunk holes

STROKE 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000]1050]1100]1150] 1200
L 338 | 388 | 438 | 488 | 538 | 588 | 638 | 688 | 738 | 788 | 838 | 888 | 938 | 988 | 1038|1088 | 1138|1188 | 1238 | 1288|1338 | 1388 | 1438 | 1488

M 1 1 1 1 2 | 2 | 2 | 2 | 3| 3| 3| 3| 4] 4| 4| 4|55 5|56 666

N 6 | 6 | 6 | 6 | 8 | 8 | 8 | 8 | 10 | 10 | 10 | 10 | 12 | 12 | 12 | 12 | 14 | 14 | 14 | 14 | 16 | 16 | 16 | 16

s 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200

P 290 | 340 | 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040|1090 | 1140|1190 | 1240 | 1290 | 1340 1390 | 1440
E#(Kg) 0o [ o] oo oo oo o]o|o]oJo]of[o]o[o[o|o]o|o]o]|o]o
Bfi/uit: mm BAEEFAIF[EGREELT10%)

SN — I
: = T ﬂ
B ~T
c [ SR
s |10 10, ]| ¥ -
=]
(IKBERREETRE) -
Depends on motor and speed reducer
23802 .92 34 160 STROKE
= | 1
b8 EA" | . T
ke —= 3
<83 |_| |59 L
128 _
mA (1:2) B o
o 9.5 % Mx200 S
"..- N n
63 — —~ —~ S -
T T «
0|
= == == = ==

Nx 8830 M6X1 » 53, ; L843C M5X0.8 - STsEFL

Nx lower locking method M6X1 + Threadea holes ; Upper locking method M5X0.8 + Countersunk holes

STROKE 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000|1050 | 1100|1150 | 1200
L 338 | 388 | 438 | 488 | 538 | 588 | 638 | 688 | 738 | 788 | 838 | 888 | 938 | 988 | 1038|1088 | 1138|1188 | 1238 | 1288 | 1338 | 1388 | 1438 | 1488
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
N 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16 16 16
S 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200
P 290 | 340 | 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040|1090 | 1140|1190 | 1240|1290 | 1340 | 1390 | 1440

BEE(Kg) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

Bfi/uit: mm BAEEAIFEGREET10%)

Www.m-pro.com.tw




PRO, <
M()tl()nm PROMOTE YOUR PRODUCTS

US gty E75EY Input shaft (Up side)

| =[]
; S
v 6xM6x1 - 16DP 48]
2x@6H7 - 8DP
@20h7
‘ STROKE . 160 34
=1 0]
L 92
P
S Mx200 A(1:2)
m e 95,
— == E= == > b
3 6.3
== = == = =

Nx 8830 M6X1 » 53, ; L83 M5X0.8 » STEEFL

Nx lower locking method M6X1 + Threadea holes ; Upper locking method M5X0.8 » Countersunk holes

STROKE 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 100010501100 1150] 1200
L 338 | 388 | 438 | 488 | 538 | 588 | 638 | 688 | 738 | 788 | 838 | 888 | 938 | 988 | 1038|1088 | 1138|1188 | 1238|1288 | 1338 1388 1438 | 1488
M 1 1 1 1 2 [ 2 | 2 2 | 3| 3| 3| 3| 4| 4| 4| 45| 5|55 6666
N 6 | 6 | 6 | 6 | 8 | 8 | 8 | 8 | 10 | 10 | 10 | 10 | 12 | 12 | 12 | 12 | 14 | 14 | 14 | 14 | 16 | 16 | 16 | 16
s 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200
P 290 | 340 | 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040|1090 | 1140|1190 | 1240 | 1290 | 1340 | 1390 | 1440
=& (Kg) 0 oo o o] oo ool o[ofJoJoJo[o]o[o o oo o o o]o

Efi/unit: mm BEEEBFRIHBEREEL10%)

DS EHiy T 75 E! Input shaft (Down side)

10,,,..70,..70,, 10

0| <
‘.:|| 115 N
f f
v 6xM6x1 - 16DP
2x@6H7 - 8DP
‘ STROKE 160 .34 92 145 186
BOIA
- o
| = o B
63
@20n7 s
P
s Mx200
46
P
e = = = =

154

= S =3 =3 5
Nx T8z M6X1 » 57 ; _E#3( M5X0.8 » SREEF,

Nx lower locking method M6X1 » Threadea holes ; Upper locking method M5X0.8 » Countersunk holes

STROKE 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000|1050 |1100|1150|1200
L 338 | 388 | 438 | 488 | 538 | 588 | 638 | 688 | 738 | 788 | 838 | 888 | 938 | 988 | 1038|1088 1138|1188 | 1238|1288 | 1338 | 1388 | 1438 | 1488
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
N 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16 16 16
S 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200
P 290 | 340 | 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040|1090 | 1140|1190 | 1240|1290 | 1340|1390 | 1440

BE(Kg) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

Bfi/unt: mm BEAEEFRIFTEGREEL10%)

Www.m-pro.com.tw




}E"F‘I’i‘t;%ﬁ / Standard belt drive  {EHEBEE Standard slider

LS WLARE inputshat (onsice)

178
BT
&

174

I I =
! IC |
3 — =
6xM6x1 - 16DP @20h7
2x@6H7 - 8DP.
a3
. STROKE . 160 ‘34 92 14.5 186
b | O o
| 9 mI = AlS
= o _2o] © . o
L 46 5 6.3
128
P
S Mx200

154

|

u

N

u

n

n

Y

u
45
o
a

= 4 = 4 & ool
Nx T8z M6X1 » 57 ; _E#3( M5X0.8 » SREEF,

Nx lower locking method M6X1 » Threadea holes ; Upper locking method M5X0.8 » Countersunk holes

STROKE 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000]1050]1100]1150] 1200
L 338 | 388 | 438 | 488 | 538 | 588 | 638 | 688 | 738 | 788 | 838 | 888 | 938 | 988 | 1038|1088 | 1138|1188 | 1238 | 1288|1338 | 1388 | 1438 | 1488
M 1 1 1 1 2 | 2 | 2 | 2 | 3| 3| 3| 3| 4] 4| 4| 4|55 5|56 666
N 6 | 6 | 6 | 6 | 8 | 8 | 8 | 8 | 10 | 10 | 10 | 10 | 12 | 12 | 12 | 12 | 14 | 14 | 14 | 14 | 16 | 16 | 16 | 16
s 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200
P 290 | 340 | 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040|1090 | 1140|1190 | 1240 | 1290 | 1340 1390 | 1440
E#(Kg) 0o [ o] oo oo oo o]o|o]oJo]of[o]o[o[o|o]o|o]o]|o]o

Bfi/unit: mm BAEBFRIHFEGREEL10%)

N 115 ilig
—| | ! ~
Il Il #I
- T
@20h7 6xM6x1 - 16DP
2x@6H7 - 8DP
43
186 145 _92 34 160 STROKE ‘
§ A“ e . © ( T
6.3 59 46 L
128
P
Mx200 S
A(1:2)
-
0,
Q95 2‘ == =S == =Z= =]
<t
LO)|
6.3 ‘ﬁ
& - == - —*—|

Nx T8z M6X1 » 573 ; E#E30 M5X0.8 » SFEEFL

Nx lower locking method M6X1 + Threadea holes ; Upper locking method M5X0.8 » Countersunk holes

STROKE 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000|1050 | 1100|1150 | 1200
L 338 | 388 | 438 | 488 | 538 | 588 | 638 | 688 | 738 | 788 | 838 | 888 | 938 | 988 | 1038|1088 | 1138|1188 | 1238 | 1288 | 1338 | 1388 | 1438 | 1488
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
N 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16 16 16
S 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200
P 290 | 340 | 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040|1090 | 1140|1190 | 1240|1290 | 1340 | 1390 | 1440

BEE(Kg) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

Bfi/uit: mm BAEEAIFEGREET10%)

Www.m-pro.com.tw




	2018R178_01BD2標準P01
	2018R178_01BD2標準P02
	2017R178_01BD2標準P05_G6
	2017R178_01BD2標準P06_G6
	2017R178_01BD2標準P07_G9
	2017R178_01BD2標準P08_G9
	2017R178_01BD2標準P09_S
	2017R178_01BD2標準P10_S

